REŠENJE

2.


[image: image1.wmf]STRA

UA

SR

A

RA

ST

CL

Q

4

UB

RB

ST

CL

Q

STRB

8

IR

D

C

.

SC

DEC

#8

+

LD

LDSC

4

.

.

SC0

A7

.

+



[image: image2.wmf]1

1

RA

STRA, LDSC

T0

1

0

RB

STRB

T1

0

SC0

STRA

T2



[image: image3.wmf]3

2

1

0

2

T2

T0

T1

DC

CNT

LD

INC

T3

CL

CLCNT

LDCNT

2

I1:0

.

T1

RA

LDCNT12, I0_12

.

T1

RA

STRA1,LDCNT11,I0_11

STRA0,LDSC

.

T2

RB

LDCNT_2, I1

.

T2

RB

CLCNT

I0= I0_11+I0_12

T0

LDCNT= LDCNT_11+LDCNT_12+LDCNT_2

SC0

.

T1

RA

SC0

STRB

STRA=STRA0+STRA1


_1194447050

_1194447064

_1194447037

